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Answer Any Five Full Questions 

  Marks OBE 
  CO RBT 
1 With a neat block diagram, explain the fundamental steps in Digital Image 

Processing. 
10 CO1 L4 

     
2 With a neat block diagram, explain the components of an Image 

Processing System. 
10 CO1 L4 

     
3 Explain the following terms as applied to Image Processing with necessary 

graphs: 
Brightness adaptation, weber’s ratio, Mach bands, distance measure.  

10 CO1 L4 

     
4 Consider the image segment in Fig.4: 

i) Let  V= {0,1}. Calculate the length of shortest 4, 8 and m paths 

between p and q. 

ii) Repeat for V= {1,2}. 
 
 
 
 

 
 
 
 

  
  
  
  

 

10 CO1 L3 

                            Fig. 4 
 

   

5 Explain Image acquisition using sensor using sensor arrays. 10 CO1 L4 

     

6 Explain the Piecewise Linear transformations functions. 10 CO2 L4 

     
7 Explain the following  terms with reference to Image Processing: 

Image Negatives, Log Transformations, Power-Law Transformations and 
Histogram. 

10 CO2 L4 
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2 With a neat block diagram, explain the components of an Image Processing 
System. 

10 CO1 L4 
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3 Explain the following terms as applied to Image Processing with necessary 
graphs: 
Brightness adaptation, weber’s ratio, Mach bands, distance measure.  

10 CO1 L4 
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4 Explain Image acquisition using sensor using sensor arrays. 10 CO1 L4 
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5 Explain the Piecewise Linear transformations functions. 10 CO2 L4 
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6 Consider the image segment in Fig.4: 
i) Let  V= {0,1}. Calculate the length of shortest 4, 8 and m paths 

between p and q. 

ii) Repeat for V= {1,2}. 
 
 
 
 

 
 
 
 

  
  
  
  

 

10 CO1 L3 

                            Fig. 4    
Soln: When V = f0; 1g, 4path does not exist between p and q because it is impossible to get from p to q by traveling 

along points that are both 4adjacent and also have values from V . Figure P2.15(a) shows this condition  it is not 

possible to get to q. The shortest 8path is shown in Fig. P2.15(b)  its length is 4. The length of shortest m path 
(shown dashed) is 5. Both of these shortest paths are unique in this case. (b) One possibility for the shortest 4path 

when V = f1; 2g is shown in Fig. P2.15(c) its length is 6. It is easily verified that another 4path of the same length 

exists between p and q. One possibility for the shortest 8path (it is not unique) is shown in Fig. P2.15(d) its length is 
4. The length of a shortest m path (shown dashed) is 6. This path is not unique. 

 
 

Likewise for 2nd case. 

 

 

7 Explain the following  terms with reference to Image Processing: 
Image Negatives, Log Transformations, Power-Law Transformations and 
Histogram. 

10 CO2 L4 



Soln: 

 



 



 



 

 
 


